Art paper : It contains china clay which provides @ Ciean, suuum e \

[ QUESTIONS JX

1. What are carbohydrates ? How are they classified. Discuss the ring siruc

wre ol (‘_‘\uwst.
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Carbohydrates 141

, S7hat are oligo ~accharides ? Give an example of a Trisaccharide.
2. Wha |

ive the mechanism of 0sazone formation.
3 f{lvw would you establish‘that glucose has Pyl'anOse e—
4. Ho

you convert :

5, How -4ill
0] Glucose in to fructose
(jii) Arabinose in glucose
6, Write short notes on:
() Muta rotation
(fiz) Invert sugar and
7, Distinguish between :
(i) Glucose and fructose

{iii) Sucrose and fructose

8. How D-glucose is converted into D-Mannose. How will test in lab that a given compound in glucose
and not cane sugar.

IL. Give the difference between a- and p-glcosideic linkage.

12. What happens when glycose is treated with :

(if) Fructose into Glucose
(iv) Glucose into Arabinose

(if) Epimerisation
(iv) Molisch test/ How is carbohydrate gp. tested in lab.

(i) Glucose and cane sugar

.('D Acetone (ii) Fehling's solution
(i) 1?% HCI (iv) Dimethyl sulphate in presence of NaOH
(") Lime water (vi) Phenyl hydrazine in excess

13, How :
: glucose is obtained on large scale ? Give its important reactions.

4. Disc
us -
Is S the constitution of glucose.

+ How fru
ctose j ; :
Ose is obtained from cane sugar ? Establish its structure.

6, De -
scrib,
e the manufacture of cane sugar.

B IndiCat v
. cate brief] ) .
i Shi With gy 3(’) ;26 experimental basis on which the structure of glucose Is

W will
u sh .
) Gluegen that :

. se j
((11) Glucoge 'S a penta hydroxyl aldehyde.

i) Brye - C‘:)S an aldehydic and not a keto group.
1y, Frueyq Ntains a keto group at position 2.

'. Se .
Plaip 8lves two j - .

t Isomeric 5
0 wy, e fouo“,ing : alcohols on reduction

) y 8lucoge and
iy Y Prefiy

based. What is its relation-

: fructosg; form the same osazone with phenyl hydrazine-
) (iv) R Ucoge . I:S g1ven to fructose though it is laveorotatory.

P (*)G[u:tose cﬂntai:t Teact with NaHSO3 though it has an aldehydic group-
N > 8 ketf’ group and glucose an aldehydic group yé

Oe

Ty B‘D'glumse exhibit mutarotation whereas their mono-methyl glucoside do not

y su
Croge :
Se is
a n0n .
-reducing su
gar.
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142 Organic Chemistry

‘reY \
23. Why glucose does not show Shiff’s Test,
24. Explain the following :

(® Sucrose is dextorotatory whereas hydrolysis product is laevorotatory,
(i) Why sucrose does not shows mutarotation.
25. Write the correct answer from the given alternatives with reason :
L. Pyranose structure of glucose was proposed by :

(i) E. Fischer (1) Haworth & Hirst
(iii) Hakomori (iv) Hudson

Ans. (i) Proposed on the basis of methylation studies.
2. Cellubiose on hydrolysis with K+
(1) Glucose + fructose
(1ii) ‘Glucose only

gives :

(i1) Fructose

(iv) Galactose + glucose
of hydrolysis.

mmals is :

(i1) Maﬁu;e

(1v) Sucrose

olation and identification.

Ans. (iii) Found on identification of the products
3. The sugar occurs in the milk of ma

(1) Lactose

(1i1) Fructose
Ans. (i) Found on analysis and confirmed by is

4. Mutarotation is :

(i) Free rotation about C - C bond
(iii) Inter conversion of a-
Ans. (iii) It is the inter conversj

(i) Restricted rotation about C = C bond.
and B-anomers (iv) None of thése
on of a- and B-anomers.
S. Methylation followed by oxidat;

on of glucose giveg xylo - tri methoxyglutaric acid. It in
(i) Pyranose ring structure (i) Furanose ring structure
(iii) Both pyranose and furanose

(iv) None of these
Ans. (i) It has five carbon atoms in the ring,

6. Complete methylation and oxidation of glucose gives dimethyl tartarjc acid it shows :
(i) Pyranose ring structure (i) Furanose ring structure

(iv) None of these
atoms in the ring,

(iii) Pyranose & Furanose ring structure
Ans. (ii) It has only four carbon

8. The Principal sugay jn blood is
(i) Fructose ' (i) Glucose
(iii) Sucrose ‘ U

Ana £\
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which of the following statement is false about glucose ?

9 i) tis? reducing Sugdt (i) It is a disaccharide
(i) 1ehas 2 PymﬂOSe form (iv) It is a polyalcohol
N i) Glucose 15 @ monosaccharide and can not be further hydrolysed into simple sugars
o which of the following statement is false about o-D-glucose ? o
(i) It has a pyranose ring (i) It is a hemiacetal
(iii) 1t shows mutarotation (iv) It i the purest form of table sugar
s V) -D-glucose is a monosaccharide while table sugar is disaccharide ie., sucrose.

‘]l. o-D-glucose is different from [3-D-glucose :
ther

(i) In the configuration at C - L.
(iif) Because they are enantiomers

s () In o-D-glucose at C- 1, OH—gp- is present
t is false about glyceraldehyde ?
It is isomeric with 1, 3-dihydroxypropanon¢

(i) Because they are mirror images of each 0

(iv) Because they are geometrical isomers
on axial position while in B-itison equatorial position.

2. Which of tiic {oilowing statemen

(i) Its IUPAC name i85 2-dihydroxypropanal(ii)
(iv) It shows rmutarotation

g structure.

tate of Cu,O when heated with -

(iii) Ttis optically active
i, (iv) It has open chain struc
{3, Which of the following car

Benedict’s solution ?

(i) Maltose

ins. (iii) Same as 39.

14, Which of the following S
(i) Itisa polymer of glucose molecules join

(i) Itis a major component of cotton

(iii) Itis used in the manufacture of Dacron fibres

he manufacturé of Rayon fibres

of Dacron fibres.

t derived fro
(iii) Gun cotton

ture and does not form hemiacetal rin
bohydrates will not give a red precipi

(ii) Glucose (iii) Sucrose (iv) Fructose
out cellulose ?

tatement is false ab
ed in p-1, 4 linkages

(iv) Itis used in {
Ans, (i) It is used in the manufacture
1. Which of the following product isno
(i) Rayon (ii) [nsulin
Ais. (ii) It is a harmone and made up of @

m cellulose ?
(iv) Paper

mino acids.

. " o o,
0.0...0..
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